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Answer all questions.

1. What is the place value of the underlined digit?
5786

Answer

2. How many tens are in the number below?
2 584

Answer

3. Round 973 to the nearest hundred.

Answer

4. Write the missing number to complete the pattern below.

3, 10, » 24, 31

5. What is the missing number in the sentence below?

24 + | | =95

Answer
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6. Caden and Ethan played a video game. Their scores are shown in the
table below.

Caden Ethan

9768 9875

Complete the statement below using less than or more than.

Caden scored Ethan.

7. List the numbers below in ascending order.

4785 4875 4587

Answer

8. Write the missing number to complete the pattern below.

6, 12, 18, ,30

9. (a) A farmer picked 325 oranges on Monday and 140 oranges on

Tuesday. How many oranges did he pick altogether?

Answer
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(b) On Friday the farmer realized 98 of the oranges were rotten. How many

oranges would he be able to take to the market to sell?

Answer

10. Multiply 15 by 13.

Answer

11.Veer came to school with a jar of marbles. There were 244 in the jar. He
shared them equally among his 4 friends. How many marbles did each

friend get?

Answer
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12. Daniel brought a bag containing 20 cherries to school. He gave % of

the cherries to Oronde and ;: to Jayden.

(a) What fraction of the cherries did he give away?

Answer

(b) What fraction did he have left?

Answer

13. What fraction of the animals are birds?

b

Answer
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14. (a) Change the fraction below to a mixed number.

Answer

(b) Reduce the fraction below to its lowest terms.

12
18

Answer

15. What is the length of the eraser?
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Answer

16. Joshua walks 3 kilometres to school. How many metres did he walk?

Answer metres
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17.The mug has a capacity of 2000 ml. How many %L cups of water would
be needed to fill it?

Answer

18.Two rectangles, A and B are drawn on the grid below.

Rectangle A

i |
L
Rectangle B I

Which rectangle has the larger area?

Answer

Page 6 of 7




6 cm
E
o
™
2cm
E
Qo
L]
2cm
E
o
[2p]
6 cm

Answer

19. Find the perimeter of the shape below.

20.What is the perimeter of the grid below.

1 unit=1cm

Answer
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